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Section A (30 x 2 marks = 60 marks)

For each question from 1 to 30, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,
3 or 4) on the Optical Answer Sheet provided.

1.  Salifa carmried out an investigation to find out the preferred environment of
an organism G. Twenty organisms G were put in the middle of Dish A.
After 15 minutes, the number of organism G in each section of Dish A
was counted.

damp and dark—§s dry and dark ﬁ 9 \
damp and light— \ 4 dry and light k 6

Dish A Number of organism G in each
section after 15 min

She repeated the investigation with Dish B and Dish C while using the
same number of organisini G i ealhi disi.

Dish B Dish C
Which of the following shows the likely number of organism G in each
section of Dish B and C?
Number of organism G in each section
Dish B DishC

__damp dry dark light
1) 10 10 4 16
2 9 11 10. 10
3) 6 14 12 8
@l . 15 5 13 7



Peter counted the plants and animals in his aquarium. The results are
shown below.

35

30

25

20

15

Number of organisms

10

Plants Animals

Which of the following statement(s) about the plants and animals in the
aquarium is/are definitely correct?

A
B
C

¢
@)
(3)
)

There is one aquarium community.

There are more types of animals than plants.

The population size of all the animals is greater than that of all the
plants.

A only

A and C only
B and C only
A,BandC

Which of the following is a reason for the young of some animals to be
travelling in groups with their parents?

(1)
)
@

@

Parents may protect their young from danger.
Predator could distract the young instead of the parents.

The young prevent their prey from escaping when parents are
hunting.

.. The young spot their predator and lead the group to attack the
predator. - ‘



4.

A food web consists of five organisms, A, B, C, D and E. The table
below shows some information about the organisms.

Food producer | Prey only | Both predator and prey | Predator only
D B C.E A

Which one of the following shows a possible food relabonshlp among the
five organisms?

(1) /,1:7,\\ V4] /Iﬁz
D A

E B
\B ) \c/
@ c \>A @ /, B— E
\B \C/

The diagram below shows onganisms in a food chain.

plant >| insect —>| bird

Which of the following statements are true about the food chain?

A The insect obtains its food from the plant only.

B The source of energy for the food chain is the sun.

C Not all the energy from the plant could be transferred to the bird.

D  The bird does not depend on the plant for food directly or indirectly.

(1) AandConly
(20 BandDonly
3 ABandC only
4) . AB, C andD



6. Study the diagram below.

animal waste

The substances produced by the cow undergo a proces

other substances that are returned to the soil.

carbon dioxide
and water vapour
given out

55 to release

Which of the following correctly matches the process with the
substance(s) that are returned to the soil for plants to absorb for growth?

Process Substance(s) retumed to soil
(1) Respiration sugar
(2) | Evaporation water vapour
(3) Respiration carbon dioxide and water
(4) | Decoi . siucn mineral salts '

7. The diagram below shows a fish in its habitat.

Which of the following characteristics help the fish to swim fast and hide

from its predator?
swim fast hide from predator
(1) fins long body
(2) short tail | -~ scales on its body
(3) | eyes on side of body | triangle-shaped body |
4) streamlined body - _stripes on its body

—



Th
e pupils made the following statements about adaptation of organisms.

Lenny: An organism must have adaptations for it to survive the
physical conditions of its habitat.

Manju:  Only plants.dev"elop adaptations for conserving water.

Neela: Both the young and adult of mammals show behavioural
adaptations for reproduction.

Which pupii(s) had made the comrect statement about adaptation?
(1) Manjuonly
(2) Lenny only

3) Lenny and Nee€la only
(4) Lenny, Manju an_‘d“Neela

The diagrams below show two different plant adaptations.

Which of the following correctly matches the adaptations of each plant to
its purpose?

twining stem needle-like leaves
(1) to obtain food to keep herbivore away
(2) to increase in height - to obtain water
(3) to obtain more light to reduce water loss
(4) to avoid wind to cope with high temperature



10. The diagram below shows a wind-pollinated flower.

dull- coloured petal

What adaptation does the flower have for wind pollination?

(1) Feathery stigma

(2)  Dull-coloured petals

3) Ovary hidden in flower

(4)  Stigma located far from ovary

11. Acid rain is harmful to our environment. Which one of the following is.
most likely to cause more acid rain? '

(1) more pollutants in the air

(2) more use of recycled material
3) more variety of aquatic animals.
(4) more trees being chopped down

12 Which one of the following actions indirectly contributes to flooding due
to rising sea level?

(1) oil spill

2) burying household garbage

(3) more people driving instead of taking public transport

“4) using renewable sources of energy to generate electricity



13.

14.

Three plants, G, R and S, were planted as shown in Figure 1 in 2010.
Figure 2 shows the locations of the plants in 2014.

Figure 1 .-

Figure 2

Which of the following is the most likely method of dnspersal for the
fruits of plants Q, R and S?

Q R _ S
(1) By water By wind By explosive action
(2) By wind By explosive action By water
(3) By wind By water . By explosive action
(4) | By explosive action | By water By wind
Study the diagram below.
Pollen grains
Process J
Female flower
Process K
Ovary becomes M Ovules become N

(1-

2)
)
4

Which of the following correctly identifies J, K, M and N?

Process J- Process K M - :
fertilisation pollination —  fruit - seed -
fertilisation pollination seed fruit
pollination fertilisation fruit seed
pollination fertilisation - seed fruit




15.

16.

(1) A (2) A
g g _
: ;
] 9
5 s
g 3
2 E
E <
E F G H
: :
By g
'§ k3
.g .§ i
. < _ E
E F G

Which of the following statement(s) about human reproduction is/are
true?

A The ovaries produce eggs.

B The sperms are produced in the penis.

Cc Only one sperm is needed to fertilise an egg.

D The ovaries usually release many eggs at a time.

(1) A only ' 2) A and C only
(3) B and D only 4) A, B, and C only

The diagram below shows a simple representation of the human
circulatory system. Arrows E, F, G and H represent the flow of blood to
different parts of the body.

lungs

e +.
DK

heart

" F H

y

! nthar narts of the body

Which one of the following graphs correctly represents the amount of
oxygeninE, F, G and H? '




17.

18.

The diagram below represents the composition of gases in the air
inhaled by a human.

_ \.
Carbon dioxide, Nitrogen
other gases and
water vapour

Which of the following statements are false about the cgngosition of
gases in the exhaled air of a human?

A Amount of Q increases.

B  Amount of S increases.

C Amount of R remains the same.
D Amount of Q, R and S decrease.

(1) AandConly " (2 BandDonly
(3) A, CandDonly (4)  B,CandDonly

Which of the following statements is true about the human digestion
system?

A Absorption of water takes place in the small intestine.
B Absorption of digested food takes place in the small intestine
c The start of the digestion process takes place in the stomach.
D Chewing food into smaller pieces can speed up the rate of
digestion.
(1) A and D only 2 B and C only
(3) B8 and D only ' 4) A, B, and C only

10



19.

. water (A)

The diagram below shows a hydroelectric power station.

generator

—

e e o

power lines

(€)

- e em —
—_——— = e =
— - —— o—a

turbine (B)

river

The water turns the turbine such that the generator can produce
electricity. :

Which of the following identifies the main forms of energy at points A, B

and C?

A

B

C

(M

Gravitational
potential energy

Electrical energy

Kinetic energy

) Gravitational Kinetic energy Electrical energy
potential energy
(3) Kinetic energy Electricél energy | Gravitational potential
energy
“4) Chemical potentia! Kinetic energy Electrical energy

energy

- 44




20.

21.

Study the graph below.

- Gravitational
4 potential energy
>
o
[}
[ and
(7]
Y
O
-
=
é Kinetic
E energy
Time

Which of the followmg actions would show the same energy
conversions as the graph above?

(1) Skating down a slope.

(2) Kicking a ball upwards

(3) Pushing a pen off a table.
4) Coconut falling from a tree.

Hui Yin hung two objects X and Y on two identical springs as shown
below.

Spring B

Which one of the followfng statements correctly explains why Spring B
is Ipnger than Spring A after the objects are hung on them?

(1) The mass of object Y is more than that of object X.

(2)  Spring A stretches less than Spring B for the same amount of
mass.

(3"~ The elastic spring force acting on object Y is less than that
acting on object X.
(4)  The gravitational force acting on object X is less than that actlng '
© onobjectY. , o

12



22.

The diagram below shows a toy frain on a flat surface. The direction of
the toy train's movement depends on the amount of forces K and M.

23.

Which of the following are the correct reasons for the train’s possible

movements?

Movement Explanation
A | The train moves towards X Force K is greater than Force M -
B | The train moves towards Y Force M is smaller than Force K
C | The train does not move Force M is equal to Force K
(1) A and B only 2) A and C only
(3)  Band C onlyy/ (4) A, B, and Conly

The diagram below shows an electrical circuit that consists of four

objects, J, K, L and M, that are made of different materials.

it was observed that the bulb lit up. Which of the following correctly

®

L
(.

<

M

'l

H

showsmemateﬁalsﬂwtﬂleobieqscpuldbemadeof?

Copper _

13

- -J . K L M
{1) lron Paper ‘Wood Copper
(2) Copper - Aluminum | iron . Paper -
(3) | Aluminum iron - -Wood | - Copper -
4) Paper ~_ Jron -

Wood




24.

25.

Rui Xing wants fo test how the number of bulbs arranged in series
affects the brightness ‘of each bulb. He sets up an electric circuit using
a bulb, some batteries and an object X made of a certain material as

shown below.

—

X

In order to ensure a fair test, which of the following variables must he

keep constant?

A
B
C
"D

(1)
)

Number of bulbs
Brightness of bulbs
Number of batteries
Type of material for

A and C only
A, B and D only

(2) C and D only
4) B, C and D only

Rajan created a circuit card as shown below. He then used the circuit
tester to test out his circuit card.

H

=iy

k

-,ﬂ

9

W) ()
J K M
circuit card

circuit tester

Which of the following pairs of points would allow the bulb to light up?

3

A | Points Eand K-

B |} Points G and M

C |PointsJandM |~

D {PointsHand J
(1) AandConly

A, B and C only

14

2) BandD only
(4) B, CandD only



26.

27.

The letters, A, B, C and D, represent four students standing at different
positions of a corridor.

Al @
mirror —7 ] ®
c B
®

o|®

Without moving from their current positions, which pair of students will
be able to see each other in the mirror?

(1) AandD )
3) Band D (@)

Aand C
Band C

Aini carried out an experiment to find out the effect of the Sun’s heat on
different materials. She used 4 identical empty cans made of different
materials, A, B, C and D, for the set-ups shown below. These set-ups
were placed under direct sunlight.

thermometers thermometers

She recorded the temperature of air in the cans over time, as shown in
the table below.

Temperature of air (°C)
|_Time (min) A B ‘ [ D
. .0 "} 28 28 - | 28 | - 28
5 - 32 - 31 31.5 33
10 34 | 345 . - 33 - 36
15 37 - 365 | 3345 . 39

Based on her results, which of the materials is most suitable for making
a lunch box to keep food warm for the longest txme'?

(1) A

@

15

)
@




28.  Lucy filled two identical containers with the same amount of water, She
then added different objects, X and Y, into each container and
observed the final water level in each container as shown below.

Beaker A . Beaker B

Based on her resuits, v'vﬂh_gt can Lucy conclude?

A Objects X and Y have different masses.

B Objects X and Y have different volumes.

C Object X absorbs more water than object Y.

(1) B only (2) A and C only
(3) B and C only ) A, banu v

16



29. Zec placed an iron nail near a steel rod and a copper rod as shown in
the set-up below.

N T g Gt TS e ol SN e e
s e e I T I e A e ecars X2 EAAC E

string string

copper rod
ppe steel rod

iron nail

batteries
switch

bulb

J

Which of the following will Zec most likely observe when he closes the
switch?

A The bulb lights up.

B The steel rod moves towards the iron nail.

C The copper rod remains at the same position:

D Both the steel rod and copper rod will move towards the iron

nail.
(1) A and D only 2) B and C only

(3) C and D only (4) A, B, and C only



30. Shannon placed 2 similar iron cubes on 2 different surfaces as shown
in the diagram below. The 2 magnets used were of the same strength.
m | 1 1 _lron cube
e . >
'
Magnet 10cm \ Glass surface
Top view of Set-up X
A E
/! R — - \
Magnet B 10cm Carpeted surface
Top view of Set-up Y
The table below shows the time taken for the iron cubes to come into
contact with the magnets.
Time taken for each iron cube to come into contact with the magnet (s)
14y 2Y try 3"ty
Set-up X 3 3 2
Set-up Y 4 5 4

Based on her findings in the table above, which one of the following
best explains her observations?

(1) The iron cube in set-up Y had a bigger mass.

2) The magnet in set-up X exerted a greater force on the iron cube.

3) There was more friction between the iron cubes and the surfaces in
set-up X than set-up Y '

4) There was less friction between the iron cubes and the surfaces in
set-up X than set-up Y.

19
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Section B (40 marks)
Write your your answers to questions 31 to 44 in the spaces prowded

31.  Robert set up a glass tank which contains plants and animals as shown
below. e

After putting some plants and animals into the tank, he added some
water before it was sealed tightly.

(@) Give one reason why the tank must be kept in a brightly-lit place
for the animals to survive. i1

Robert observed that spiders feed only on the grasshoppers in the tank.
He recorded the number of spiders and grasshoppers over time in the
tank in the table as shown below. .

Number of animals
Day Grasshopper Spider
1 70 5
17 20 2
125 50 3
(b) Give a reason for the change in number of spiders from Day 1 to
Day 17. [11

(c) Explain why the number of grasshopper on Day 125 was higher
than Day 17 although the number of spiders had also mcneased
‘ 2]




32.  The figure below shows a food web in a particular community.

/ animal G

amm,il E animal F
animail D- > animal C
animalB < plant A

A disease that only killed animal E caused a sharp decrease in its
population. oA ‘

How would this decrease affect the population of animals B and G? [2])

(i Immediate effect on animal G:

Reason:

(i)  Effect on animal B after some time:

Reason:




33. The diagram below shows a water bird A which feeds on fish.

(a) Based on the diagram above, state and explain the function of
two structural adaptations that bird A has for catching fish. [2]

@ Adaptation 1: _,

Function: .-

@)  Adaptation 2: _

Function:

Bird A stands very still in water and waits for its prey before catching it.

(b)  Explain how this behavioural adaptation helps bird A catch its
prey. 1

Bird B C L
Bird B, which is short and feeds on fish, is found in the same habitat as
bird A. _ S o ' '
(c}  Explain why being short could be an advantage for its survival. [1]




The diagram below shows a flower.

red petals

(@) Based on the diagram above, how would this flower most likely
get pollinated? [11

(b)  After pollination and fertilisation, state what would happen to the
flower parts below. ] 11

Petals

Anther

The diagram below shows the fruit and its seeds of the flower after it
had been fertilised. ,

(c)  State the most likely method of dispersal for this fruit. [




35. The diagram below shows Don Min Joon’s family tree.

Mr Don Mrs Don

O

O

Key
Male ]
Female O

Don Min Joon is Mrs Don’s grandson.

(a) Shade the correct shape representing Min Joon in the family
tree above. 1

(b) How many female cousin(s) does Min Joon have? [1




36.  Fish have special breathing organs called gills which are located on the
sides of their heads. Fish absorb dissolved oxygen as water passes
through these gills. :

gills

(@)  Which part of the human respiratory system is similar to the fish
gills? 4 [1]

(b) Give a reason why it is necessary for the gills to have many
blood vessels. [1]

37.  The diagram below describes how different systems work together in a
human body to take in substances A and B that are needed for life
processes.

Substance A | System F

—>
\ Human All
Circulatory | __5 | parts of

System the
: /1 , ' body
Substance B —> | System G |
Identify substances A, B and systems F, G. . 2 '_
@ A ST
~{b) B G —_




38. The diagram below shows the path of a ball when it was being kicked
to position P and left to bounce before it came to a stop at position U.

| Q S U cement floor

The activity above was repeated a few more times to obtain an average
height of the ball at positions P, R and T. The results are recorded in

the table shown below.
Position | Average height (cm)
P .-~ 100 ~
R - 70
T 40

(@) Describe the en'efgy change for the ball as it moves from position
P toR. : 2]

(b) Atwhich position, P, Q, R, S, T or U, did the ball have the greatest
kinetic energy and greatest gravitational potential energy? 1

Greatest kinetic energy :

Greatest gravitational potential energy :

The activity was conducted again in an open field using the same
= force. The results are recorded in the table shown below.

Position | Average height (cm)
P 90 »
R 60
T 35

.~(e)  State one factor that had affected the results of this experiment.
' I1]




39.  Wei Xing carried out an expeﬂmentbydroppmgan object of mass 15g
attached to a plastic sheet from a certain height as shown below.

\‘ '/ plastic sheet
She recorded her findings in the table below.
Surface area of plastic sheet Time taken for toy to reach the
(cm’) ._ground (s)
10 . 8
15 11
20 17
25 - 20
35 24
(@) Whatis the aim of her experiment? ¢}

(v}  Describe an experiment to determine how the mass of the object
affects the fime taken for the toy to reach the ground.” 2]

Step

lnstruchon

1 Attach an object of mass 15g to a plastic sheet of 20cm>.

{c) Predict how the results will be affected if three hol&e are made in

the plastic sheet.




‘40. Bala carried out an experiment using 4 batteries and some similar
bulbs. He then plotted his resulits in the graph as shown below.

A

Average
intensity
of light
given off
by each
bulb
(units)

>
Number of bulbs

(a) From the graph, state the relationship between the number of
bulbs and the average intensity of light given off by the bulb. [1]

(b) Based on the results, what can be concluded about how the bulbs
had been arranged? {1

(c) Bala then reduced the number of batteries used and repeated the
experiment. In the graph above, draw the line graph to show the
resuits that he would obtain. A ‘ ‘ U

10



41. Lugman carried out an experiment by heating substance V. He
recorded the temperature of the substance every 5 minutes. He then
plotted his results in the graph below.

A
Temperature
of substance
V(°C) -
98 et e . S - owm A -
i
1
1
[
[
i
'
i
: i
47 po w— — '—.—— - - { .
' 1 i
' 1 1
1 i 3
] ] |}
16 ; ; ;
3 1 1
} | [} ->
0 23 31 57 Time (min)
(@) What would the state of substance V be at 60°C? [1]

(b) How long did it take for the substance V to melt completely? [1]

-a



42.  Clarice carried out an experiment using the following five sheets made

C D

(glass) (tracing (wood) (glass) (tracing
paper) paper)
She used some of the cards for her experimental set-up as shown
below.
torch A C

screen

(a) In the space below, draw the shadow she would observe on the
screen. N}

12



She then repeated her experiment using different sheets and observed
the shadow formed below.

darker
shadow

(b) in the diagram below, fill in the correct letters in the boxes to
show the sheets that had been used to obtain the shadow.
- [1]

torch E

screen

Ciarice then used sheet D for the set-up shown below to find out how
the distance between the torch and the sheet affects the amount of
light that is detected by the light sensor.

- |] R
D light
sensor

torch

(c) After recording the results, she replaced sheet D with sheet E
and conducted the same experiment again. She realized that the
amount of light detected was less. Explain her observation.  [1]

13



43. Study the flowchart below.

W
X
Y
Copper
R Steel
(a) - Based on the flowchart, describe the properties of Y. 11
(6)" Statea question to represent A. - 1]

14



44. Mrs Kim wanted to carry out an experiment to find out how the

thickness of cardboards affects the pulling force of a magnet The
diagram below shows one of the set-ups.

' / bar magnet

2em{ [ )

\ cardboard

pin

8cm

Set-up 1 Set-up 2

(a) Inthe box above, draw a labelled diagram to show how Mrs Kim
should prepare set-up 2. 2]

o) Describe what Mrs Kim should do to find the maximum thickness
of the cardboard that would still allow the bar magnet to pick up

a pin. 1]

" ~End of Paper~

48



LEVEL PRIMARY 6

SCHOOL NANYANG PRi

SUBJECT SCIENCE

TERM PRELIMINARY

Q113 Q7 |4 Q13 |4 Q192 Q25 (4
Q22 Q8 |2 Q143 Q202 Q26 |3
Q311 Q9 {3 Q152 Q2111 Q27 {3
Q414 Q10 {1 Q1612 Q2213 Q28 {1
Q513 Q11 {1 Q17,2 Q2313 Q29 |2
Q6 | 4 Q12]3 Q18 |3 Q242 Q30 |4
Q31 | (a) | To enable plants to photosynthesise and release oxygen for the animals

to respire.

(b)

The spiders eat many grasshoppers so there will be a decreased in the
number of grasshoppers. After 17 days, there will be lesser food for the
spiders and thus some of the spider die due to lack of food so there is a
decreased in the number of spiders.

()

With less predators, the grasshoppers could reproduce.

Q32 | (a) | (i) Decrease
Animal G have less food to eat so they will eat animal C. When animal
C decreases, animal G will also decreases
(ii) Decrease
Animal D have less predators so they eat plant A thus animal B have
less food to eat, they will decrease :
Q32 [ {c} | (i) Adaptaiion 1. Long beak
Function : Can go underwater to catch fish.
(i) Adaptation 2: Thin legs/Long neck
Function : Camouflage itself in the water/reaching deeper in the
water
(b) [ When bird A stands very still, it does not scare its prey away thus bird A
has higher chance to catch its prey.
(c) | Being short can help bird B hide behind plants to keep away from
predators.
Q34 | (a) | Animals
(b) | Wither and fall off
- | Wither and fall off - -
-(c) | Splitting explosive action™
Q35| (a) |

®) |




(b)

Q36 | (a) | Lungs .
(b) | To increase the exposed surface area so that gaseous exchange can be
more efficient.
Q37 | (a) | Food ; Digestive system
(b) | Oxygen ; Respiratory system
Q38 | (a) | From P to Q, gravitational potentral energy is converted to kinetic energy.
At Q, some kinetic energy is converted to sound energy and heat energy.
. From Q to R, kmetrc energy is converted to gravrtatronal potentral energy.
(b) |Q;P
(¢) | Presence of wind / Friction between ball and the ground / More air
resrstance / Softer ground
Q39 | (a) | To find out how the surface of the plastic sheet affects the time taken for
the toy to reach the ground.
(b) | Step 2: Drop a toy from certain height and time how long it takes to reach
- the ground. .
Step 3: Repeat step 1 & 2 with objects of different mass.
Step 4: Repeat each experiment at least 3 times.
(c) | The plastic sheet with three holes will reach the ground faster than the
plastic sheet without holes -
Q40 | (a) | As the number of bulbs used increases, the average lntensrty of light
given off by each bulb remains the same.
(b) | The bulbs had been arranged in a parallel arrangement.
A
- _
Q41 | (a) | Liquid and gas
(b) | 8 minutes
42 -
Q42 | (a) Py
*
(b) {B,D
(c) Sheet E allowed less light to pass through than D.
Q43 | (a) | Y is a matter which has a definite volume but it has no def nlte ‘shape.
(b) |Isita magnetrc matenal’? _ '
) I
- ——— —
"*"} sardbooed
l: J.-mr«r;‘a" PW W .
She should keep increasing the thickness of the cardboard until the

.| magnet could only pick up one pin.







